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81|7 x> h=—k(PAP) A A 0.007L2L 0.00007 A7i#0.00007 A 0.00007 A il
82| 7= hFHIN BrEiAl [0.0100F 0.000 145 [0.00015K4# [0.0001 A
83|7 Ik A A 0. 100 T 0.001A7M_[0.00LAK{M_|0.00 1A
84| 74— BREAl [0.0300F 0.0003K4# [0.0003 K4 [0.0003 A4




85|77 #3k A Bl [0.0200F 0.00024ifi 10.0002Kifi 10.0002Kifi
86|77 Tur=V A A 0.0200 0.00024ii 10.0002Kifi 10.0002Kifi
87| T7NTVF A A 0.03LL T 0.0003 i 10.0003&4ifi 10.0003Kiifi
88|7rLF5/m—1 Bl [0.0500F 0.0005K4ii 10.0005K4ifi 10.0005AKiifi
89| IR A 0.09L4 T 0.00094ifi 10.0009K4ii 10.0009 K
90| 7 F A kA A dFA 0.004LL F 0.00004 5] 0.00004 4] 0.00004 A4
91|Furary—iL Al 0.05LL T 0.0005K4ifi 10.0005K4ifi 10.0005Kiifi
92| 7 IR Breisl [0.0500F 0.0005K4i 10.0005K4ifi 10.0005Kiif
93| 7 u~FY — L A A 0.030L T 0.0003 i 10.0003K4ifi 10.0003Kiifi
9|7 uETFR bl 0. 120 T 0.001 K4 [0.001A4H;  [0.001AjiH

95~ /31 A [0.0200 F 0.00024 [0.0002 K45 [0.0002A:4i
96|~ bl 0. 120 T 0.001 K4 [0.001A4H  [0.001 A7

97|~ ey s B [0.09L4F 0.00094i [0.0009 45 0.0009 A i
9Bl TxF S B [0.00500 F 0.00005A4i#3{0.00005 4] 0.00005 A
99| EY B [0.200 F 0.002A4  10.00240.0024: i

100~ F A AR Bl [0.300F 0.003A4 1000344 0.003 A4

101{~ 75107 2 b Al 10.0424 0.0004 4 [0.0004 K45 [0.0004 A4
102[~L 7T (R2P) B [0.01L4F 0.0001 4 [0.0001 45 [0.0001 A4
103| v 7LtE—h B [0.07LLF 0.0007 44 [0.0007 45 0.0007 A4
104[FEAFTE—h bl [0.003LL 0.00003 A3 0.00003 i) 0.00003 i
105|~F7F A (wFV) oAl (0.7 T 0.007K4m  [0.007A4H  0.007 A

106 [ Aa7a> 7 (MCPP) B [0.05LLF 0.00054i# [0.000545 [0.0005 i
107 A/ bl [0.03LLF 0.0003 4 [0.0003 K45 [0.0003 A4
108[A%FF L b Al 10.220F 0.0025K4m  [0.00244#  [0.002 47

109|AF-H F A+ (DMTP) bl 0.00420 T 0.00004 A3 0.00004 A4 0.00004 A i
110{ AR /AR 2% i 10.0420 T 0.0004 4% [0.00045K45 [0.0004 A7
11| AN TP B [0.03LLF 0.0003 74 [0.0003 K45 0.0003 A4
112| A7 =F b Bl [0.0200F 0.00024i 10.0002Kifi 10.0002Kiifi
113| A7 a=1 B A (0120 F 0.001K4m  [0.001A4#  [0.001 A

114[=)%—h Bl [0.00500F 0.000054i#]0.00005 A1 0.00005 K 1
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